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(1975)

(Random  Number)

SUBROUTINE RANDOM(X, Y,FLY)
REAL FLY

INTEGER IX,Y

IY=IX*16807

IF(Y.LE.O) IY=L+(1Y+2147483647)
FLY=IY

FLY=FLY*0.465661F-9

IX=lY

RETURN

END

X ( SEED )
(Positive Integer Number)

(Normal Distribution)

Box

NO , 1) 2

(Generator) Z, 12

White Segmodt

Muller(1958)
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(2,.2,)
B
B¢
» Z,
0
6.2 , ? ?
62 "1
Z,  =Bco$(0) (1)
Z2  =fisin(0) 2)
B i=llZ2+v2Z2 f(Chi - square Distribution)
(Degree of Freedom) 2
(Exponential ~ Distribution) 2
(Inverse Transformation) {
B = (-2 17)2 )
R « "1 (0]

(0.2:) B 0 1) 12)
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2 R, R2
21 = (- 2In&)i cos(2n&i)
Z2 = (-2 InRXisin21f?2)
R2 RANDOM(IX,IY,FLY)
Z, Y4,
NORMAL, = fi+aZ
NORMAL, = fl+0Z2
NORMAL, NORMAL? fl

(X2 {normal,~n(ju<2);i=.,)

REAL FUNCTION NORMAL(MEAN,SD,IX)
REAL PIRL R2,2L Z2MEAN,SD
INTEGER KK.IX

PI-3-1415026

IF (KK.EQ.1) GOTO 10

CALL RANDOM(X,IY,FLY)

RI=FLY

CALL RANDOM(IX, Y,FLY)

R2=FLY

21=SQRT(-2ALOG(RL ))*COS(2PIR?)
22=SQRT{-2*ALOG(RL)*SIN(2*PI*R?)
NORMAL=MEAN+(Z1 *SD)

KK=1

RETURN
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10 NORMAL=MEAN+(Z2*SD)

KK=0
RETURN
END
(Contaminated - Normal Distribution)
Ramsay(1977)
I() = (I-P)n(0,3) + Pn(cJC2
1 iju) 0
(cr2) 3 (1-P)
NORMAL(MEAN,SD,IX) £1
() 0 (cr2) 3C2 P
NORMAL(MEAN,CSD,IX) 2

REAL FUNCTION CONTAM(CC,P,MEAN,SD.IX)

REAL CC,P,MEAN,SD,CSD,NORMAL

CSD=CC*SD

CALL RANDOM(IX,IY,FLY)

IF (FLY.LE.P) THEN
CONTAM=NORMAL(MEAN,CSD,X)

ELSE
CONTAM=NORMAL(MEAN,SD,IX)

END IF

RETURN

END
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X, X2 ’y)
Wilchern Churchill ( 978)

Xy =(1- P2~ Zij + PZH i=12,- « =12
Z1..7a (Independent
Standard Normal Random Number)
p X %

GENX(X,N,Q,IX,CORR)

SUBROUTINE GENX(X,N,Q,IX,CORR)
REAL X(100,4),Z(100.5), NORMAL,CORR
INTEGER N.Q.X
DO 10 1=LN

Z(1,0+1)=NORMAL(0.0,1 01X
DO 20 J=1,Q
IF (J.EQ.1) THEN
X(U)=1.0
ELSE IF (J.GE.2) THEN
2(1,J)=NORMAL(0,0,L.0,)X
X(,J=SQRT(L-CORR)*Z(,J) + SQRT(CORR)Z(1.Q+1)
END IF

20 CONTINUE

10 CONTINUE
RETURN
END
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6.1

1 MAIN . > IMSE(/?) GENX INORMAL 1
. CONTAM 1BUILDY 1
RMSE(?) CALXTX 1CALXTY 1
5 INVRS 1LS 1INPUT 1
BUILDE, CALETE 1
CALK 1KIDEN 1RID 1
RLAV 1BUILDW 1
BASICW 1WRID
SUBROUTINE
FUNCTION
1 GENX - NORMAL
2 NORMAL - « RANDOM
3 RANDOM - «
1 1 (Oll)
4 CONTAM - « RANDOM INORMAL
5 BUILDY

6 CALXTX - ' XX
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il

12

13

14

15

16

61( )

CALXTY

INVRS

LS

INPUT - 1

SSARTV

SIMPLX

BUILDE

CALETE

CALK

RLAV

KIDEN
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X'y
INVERSE
I CALXTX 1INVRS 1
CALXTY
SSARTV
(Simplex Method)
1 SIMPLX
i INPUT 1SSARTV

RID 1
WRID

ki CALK
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18

19

20

21

61( )

RID

RLAV

BUILDW

BASICW

WRID

XWX

XW Y
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KIDEN 1CALXTX 1
INVRS 1CALXTY

KIDEN 1CALXTX 1
INVRS 1CALXTY

BUILDW

KIDEN 1BUILDW,
INVRS
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MAIN PROGRAM '

COMMON B(102),C(2Q9),CODE(101),KP1 ,MPL ,NN,K,M,NGET NLET.NET,NTYPE
+ NPLNCNCL INDEXG,INDEXUNDEXE NFLAG,BASICS,OPTSOL,SUM,NOPT
+ BLV(4)

REAL MEAN,SD,RHO,CORR,CC,P,BETA(4),ERROR(100),NORMAL,X(100,4),

+ + + 4+ + 4+ + + 4+ + + + + + + + + + +

XB(100),XTX(4,4) XT(4,100), XTY(4), XTXINV(4,4), Y(L00),
BLS(4),BRD(4),BRV/(4), BWD(4),
SSELSIBSEUWLSSERIDL SSERLAVIESEWRIDLL
SSELS2,SSELAV2,SSERID2,SSERLAV2,SSEWRID
SSELS3,SSELAV3,SSERID3, SSERLAV3 SSEWRIDS,
SSELS4,SSELAV4,SSERIDA,SSERLAVA, SSEWRIDA,
MLSLIMLAVL MRIDLMRLAVL MWRIDL,
MLS2,MLAV2,MRID2, MRLAV2, MWRID2,
MLS3,MLAV3 MRID3MRLAV3 MWRID3,
MLS4,MLAVA, MRIDA, MRLAVA MWRID4,
RMLS,RMLAV,RMRID,RMRLAV.RMWRID,
RMLSLRMLAVLRMRIDL RMRLAVL RMWRIDL,
RMLS2, RMLAV2RMRID2, RMRLAV2, RMWRID2,
RMLS3,RMLAV3,RMRID3,RMRLAV3 RMWR1D3,
RMLSZ, RMLAVARMR D4, RMRLAVARMWRIDA,
E(100),ETE,S2.K KI(44),

XRINV(4,4), XRVINV(4,4) XWDINV(4,4),

XBLS(100) BLSTBLS, XBLV(100), BLVTBLV.
XTW(41L00) XTWX(4.4) XTWY(4), ( 00,100)1

INTEGER !X,KK,N,Q,DERROR,ROUND
1X=988
ROUNDS 1000

Q=4
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25

N=20
KK=0
DERROR=2
RHO=0.9
CORR=RHO**2
CC=6.0
p=0.
MEAN=0.0
SD=SQRT(3.0)
ALS=0.0
ALAV=0.0
ARID=0.0
ARLAV=0.0
AWRID=0.0
DO 5J=1,Q
BETA(J)=1.0
CONTINUE

CALL GENX(X,N,Q1X,CORR)
DO 1000 Z=1.ROUND
IF(DERROR.EQ.I) THEN

DO 20 1=1N

error()=normal;mean sd,)

CONTINUE

ELSE IF(DERROR.EQ.2) then

DO 25 11N

error()=contam;cc,p,mnean sd,ix)

CONTINUE
END IF

CALLBUILDY(X,BETA,ERROR,Y XB,N,Q)

318

***********'k*'k*'k**'k*'k'k*******************'k**'k**'k*'k**/\g******************'k**********************'k'k***
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CALL CALXTX(X.XTX,N,Q)
CALL CALXTY(X.XTY,XT,YN,Q)
CALL INVRS(XTX,XTXINV,Q)
CALL LS(XTXINVXTY,BLS,Q)

) [JAY*** *kkkk

CALL INPUT(N,X,Y)

CALL BUILDE(Y,X,BLS,E,XBLSN,Q)
CALL CALETE(E,ETE,S2N,Q)

CALL CALK(BLS,BLSTBLS K,Q,52)
CALL KIDEN(K'K,Q)

CALL RID(XTX,KI,XRINV,XTY,BRD,Q)

CALL BUILDE(Y,X,BLV,E,XBLV,N,Q)
CALL CALETE(E,ETE,S2N,Q)

CALL CALK(BLV,BLVTBLVK,Q,S2)
CALL KIDEN(KIK,Q)

CALL RLAV(XTXKI.XRVINV,XTY,BRV.Q)

CALL BUILDE(Y,X,BLV,E,XBLV,N,Q)
CALL BUILDW(W,EN)
CALL BASICW(XTW.XTWX XTWY XXT, YN.Q)
CALL BUILDE(Y,X,BLS,E.XBLSN,Q)
CALL CALETE(E,ETE,S2N,Q)
CALL CALK(BLS, BLSTBLS K,0,S2)
CALL KIDEN(KIK,Q)
CALL WRID(XTWX,KI XWDINVIXTWY,BWD,Q)
'k'k'k'k'k****'k'k'k'k*'k'k'k****'k'k**'k'k'k***'k'k'k***0£;y VALUE s ZERO*
SSELS1=0.0
SSELS2=0.0



SSELS3=0.0

SSELS4=0.0

SSELAVI=0.0

SSELAV2=0.0

SSELAV3=0.0

SSELAVA=0.0

SSERID1=0.0

SSERID2=0.0

SSERID3=0.0

SSERID4=0.0

SSERLAV1=0.0

SSERLAV2=0.0

SSERLAV3=0.0

SSERLAV4=0.0

SSEWRID1=0.0

SSEWRID2=0.0

SSEWRID3=0.0

SSEWRID4=0.0

R ERROR
SSELS1 =(SSELSL +(BETA(L)-BLS(L)}*2)
SSELS2=(SSELS2+(BETA(2)-BLS(2)"2)
SSELS3=(SSELS3+(BETA(3)-BLS(3)"2)
SSELS4=(SSELS4+(BETA(4)-BLS(4))*2)
SSELAV=(SSELAVL + (BETA{L )}-BLV(1))*2)
SSELAV2=(SSELAV2+(BETA(2)-BLV(2)*2)
SSELAV3=(SSELAV3+BETA(3)-BLV(3))*2)
SSELAVA=(SSELAVA+BETA(4)-BLV(4)2)
SSERID1=(SSERID1+(BETA(1)-BRD(1)*2)
SSERI D2=(SSERID2+(BETA(2)-BRD(2))2)
SSERID3=(SSERI D3+(BETA(3)-BRD(3)2)
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SSERID4=(SSERID4+(BETA(4)-BRD(4))2)

SSERLAV1 =(SSERLAVL +(BETA(L}BRV(1))2)
SSERLAV2=(SSERLAV2+{BETA(2)-BRV(2))*2)
SSERLAV3=(SSERLAV3+(BETA(3)-BRV(3))*2)
SSERLAVA=(SSERLAVA+BETA(4)-BRV(4)2)
SSEWRIDL =(SSEWRIDL +{BETA(1 }-BWD(L))2)
SSEWRID2=(SSEWRID2+{BETA(2)-BWD(2))2)
SSEWRID3=(SSEWRID3+(BETA(3)-BWD(3)2)
SSEWRID4=(SSEWRID4+(BETA(4)-BWD(4 ))**2)

**************************************Ay | SQU AR ER

-BRV
-BRV
-BRV

MLS1=(MLS1+SSELS1)/RODND
MLS2=(MLS2+SSELS2)/ROUND
MLS3=(MLS3+SSELS3)/ROUND
MLS4=(MLS4+SSELS4)/ROUND
MLAV1 =(MLAV1 +SSEUW1 )J/ROUND
MLAV2=(MLAV2+SSELAV2)/ROUND
MLAV3=(MLAV3+SSELAV3)/ROUND
MLAVA4=(M|_AV4+SSELAV4)ROUND
MRID1 =(MRID1 +SSERID1 )/ROUND
MRID2=(MRID2+SSERID2)/ROUND
MRID3=(MRID3+SSERID3)/ROUND
MRID4=(MRID4+SSERID4)/ROUND
MRLAV1 =(MRLAV1 +SSERLAV1)/ROUND
MRLAV2=(MRLAV2+SSERLAV2)/ROUND
MRI_AV3=(MRLAV3+SSERLAV3)/ROUND
MRLAV4=(MRLAV4+SSERLAV4)/ROUN
MWRID1=(MWRID1+SSEWRID1)/ROUN
MWRID2=(MWRID2+SSEWRID2)/ROUND
MWRID3=(MWRID3+SSEWRID3)/ROUND
(M

MWRID4=(MWR!D4+SSEWRID4)/ROUND



1000 CONTINUE
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**'k'k**'k********'k**************p/my QP EAN SQ U A R ES E R RO R'k**************************

RMLS1=SQRT (MLSL)
RMLS2=SQRT(MLS?)
RMLS3=SQRT(MLS3)
RMLS4=SQRT(MLS4)
RMLAVL=SQRT(MLAV1)
RMLAV2=SQRT(MLAV2)
RMLAV3=SQRT(MLAV3)
RMLAV4=SQRT(MLAVA)
RMRID1=SQRT(MRID1)
RMRID2=SQRT(MRID2)
RMRID3=SQRT(MRID3)
RMRID4=SQRT(MRID4)
RMRLAVL =SQRT(MRLAV1)
RMRLAV2=SQRT(MRLAV2)
RMRLAV3=SQRT(MRLAV3)
RMRLAVA4=SQRT(MRLAVA)
RMWRI 1=SQRT(MWRIDY)
RMWRID2=SQRT(MWRID2)
RMWRID3=SQRT(MWRID3)
RMWRI D4=SQRT(MWRID4)

—_~

—_

WRITE(",')IRMSE(LS)=" RMLS1,RMLS2 RMLS3,RMLS4,RMLS

***********************RAGP QP ROOl MEAN SQUARES ERROR*********************

RMLS=(RMLS1+RMLS2+RMLS3+RMLS4)/Q
RMLAV=(RMLAV1 +RMLAV2+RMLAV3+RMLAV4)/Q
RMRID=(RMRID1+RMRID2+RMRID3+RMRID4)/Q
RMRLAV=(RMRLAV 1+RMRLAV2+RMRLAV3+RMRLAV4)/Q
RMWRID=(RMWRID1+RMWRID2+RMWRID3+RMWRID4)/Q

*************************************P P/\J Q U | SU M MARY*********I*****‘k************/\********
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WRITE(V)

WRITE(Y) RMSE(LAV)=\ RMLAVIRMLAV2, RMLAV3, RMLAVARMLAV
WRITER

WRITE(#) RMSE(RID)= RMRtDL,RMRID2,RMRID3,RMRID4,RMRID
WRITE(*
WRITE(**RMSE(RLAV)= RMRLAVLRMRLAV2, RMRLAV3, RMRLAVA, RMRLAV
WRITE(*)

WRITE(*2) RMSE(WRID)=, RMWRI D1RMWRI D2.RMWRI D3, RMWRI D4 RMWRI D
STOP

END

¢* SUBROUTINE FOR GENERATE RANDOM NUMBERS (UNIFORM®,1)
Cresmssassmmessamsssssamerai A1 T TSN N

SUBROUTINE RANDOM (IX.IY,FLY)

REAL FLY

INTEGER IX,IY

IY=IX*16807

IF(Y.LE.O) IY=1+(1Y+2147483647)

FLY=IY

FLY=FLY*0.465661 E-9

IX=IY

RETURN

END

£**'k'k'k***************'k'k'k*********'k****‘k*****‘k****‘k********‘k****‘k****‘k*****'k'k************************

c* FUNCTION FOR GENERATE NORMAL ( MEAN 13D )

REAL FUNCTION NORMAL(MEAN,SD,IX)
REAL PI,R1,R2,21 .22, MEAN,SD
INTEGER KK.IX

PI=3.1415926



IF (KK.EQ.1) GOTO 10
CALL RANDOM(X,IY,FLY)
RI=FLY
CALL RANDOM(IX,IY, FLY)
RO=FLY
21=SQRT(-2ALOG(RL )}*COS(2*PI'R2)
22=SQRT(-2*ALOG(RL)*SIN(2*PIR2)
NORMAL=MEAN+(ZL' SD)
KK=1
RETURN
10 NORMAL=MEAN+(Z2SD)
KK=0
RETURN
END

C* SUBROUTINE FOR GENERATE INDEPENDENT VARIABLES (X MATRIX)

SUBROUTINE GENX(X,N,Q,X,CORR)
REAL X1 4),Z(100,5,NORMALCORR
INTEGER N,Q,X
DO 10 14N
2(i,Q+1)=NORMAL(0.0,L.0,1X)
D0 20 J=1,Q
IF (J.EQ.L) THEN
X(19)=1.0
ELSE IF (J.GE.2.AND.J.LE.3) THEN
2(1,J)=NORMAL(0.0,1.0,/X)
X(,J)=SQRT(L-CORR)*Z(,J) + SQRT(CORR)*Z(1.0+1)
FLSE
X(1,J)=NORMAL(0.0,5.0,IX

324
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END IF

20 CONTINUE
10 CONTINUE
RETURN
END

C FUNCTION FOR GENERATE CONTAMINATED - NORMAL (CC,P,MEAN,SD)

REAL FUNCTION CONTAM(CC,P,MEAN,SD,X)
REAL CC.P,MEAN,SD.CSD,NORMAL
CSD=CC*SD
CALL RANDOM(X,IY,FLY)

IF (FLY.LE.P) THEN
CONTAM=NORMAL(MEAN,CSD,X)
ELSE
CONTAM=NORMAL(MEAN,SD,X)
END IF
RETURN
END
N W e R R KRR ) T B S R

C* SUBROUTINE FOR CALCULATE INVERSE MATRIX

xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx

SUBROUTINE INVRS(XXINV.,Q)
REAL X(4,4) XINV(4,4) A4,
INTEGER Q
DO 11=1Q
DO 1J=1,0

ALI)=X(,J)
1 CONTINUE
DO 20 K=1 0



10

12
15
20

25

AKK)=-LOAKKK)
D05 1=1,Q
IF(-K) 35,3
AN K)=-A(K)AK.K)
CONTINUE
DO 10 11,0
DO 10J=1,Q
IF((-K)*(3-K)) 9,109
ALLI=ZAC )-ALKAK.)
CONTINUE
DO 15J=1,0
IF(3K) 12,15,12
AKJ)=-A(K JAKK)
CONTINUE
CONTINUE
DO 25 1=1,Q
DO 25 J=1,Q
XINV(1,0)=-A(t)
CONTINUE
RETURN
END
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C* SUBROUTINE FOR BUILD DEPENDENT VARIABLE (Y) FROM Y =XB + ERROR

SUBROUTINE BUILDY(X,BETAERROR,Y,XBN,Q)
REAL X(100,4),ERROR0 ), BETA(4),XB(100),Y(100)

INTEGER N,Q

DO 10 1=IN
SUM=0

D0 30J=1,0



SUM=SUN+X(1JBETA())
30 CONTINUE
XB()=SUM
10 CONTINUE
DO 40 1=LN
Y()=XB()+ERROR()
40  CONTINUE
RETURN
END

C* SUBROUTINE FOR CALCULATE XTX MATRIX

SUBROUTINE CALXTX(X,XTXN.Q)
REAL X(100,4),XT(4,100), XTX(4.4)
INTEGER N.Q
DO 10 1=LN
DO 10J=1,Q
XT(,)=X(,9)
10 CONTINUE
DO 15 1=1,Q
DO 15J=1,0
XTX(,J)=0.0
DO 15 K=1 N
XTX(LD)=XTX(LJXT(LKPX(K,)
15  CONTINUE
RETURN
END
C
¢* SUBROUTINE FOR CALCULATE XTY VECTOR
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10

25

C* SUBROUTINE FOR CALCULATE BETA HAT (LS)

SUBROUTINE CALXTY(XXTY XT,YNQ)
REAL X(100,4), XTY(4),XT(4,100).Y(100)
INTEGER N,Q
DO 10 1=L,N
DO 10J=1,Q
XT()=X(0J)
CONTINUE
D025 =1,Q
XTY(J)=0.0
DO 25 1=1,N
XTYQ)=XTY()HXTENRY()
CONTINUE
RETURN
END

£***************************************************************************************************

35

SUBROUTINE LS(XTXINV,XTY,BLS,Q)
REAL XTXINV(4,4) XTY(4) BLS()
INTEGER Q
D035 =1,Q

BLS(J)=0.0

DO 35 K=1,Q

BLS(J)=BLS(J)+XTXINV(I KIXTY(K)

CONTINUE
RETURN
END

A****************************************************************************a**********************

C*

SUBROUTINE FOR CALCULATE

*2 AND ETE SCALAR

. E=Y-X(BHAT)
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*hkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk bbbk kbbb kbbb kbbb kbbb bbbk bbbk ke kbbb kbbb ke kk ke kkkkdkkk

C

10

SUBROUTINE CALETE(E,ETES2N.Q)
REAL E(100),ETE,S2
INTEGER N,Q
ETE=0.0
DO 10 11N
ETE=ETE+E()*2
CONTINUE
S2=ETE/(N-Q)
RETURN
END

c* SUBROUTINE FOR CALCULATE K SCALAR

£*«*TM kkkkkkTM %% TM «**TM ¥%TM TM *%TM T™M *

10

SUBROUTINE CALK(BH,BHTBHK,Q, 2)
REAL BH(4)BHTBHK, 2
INTEGER Q
BHTBH=0.0
DO 10J=1,Q
BHTBH=BHTBH+BH(J)2
CONTINUE
K=(Q*S2)/BHTBH
RETURN
END

Nikkekkekckikickickickickickickickickickickickick ik ek ik iekekick ik ik ikekeekeickiok ik iekekekekick ok ik ekeeickick ick ik kekeeick ok ick

C* SUBROUTINE FOR BUILD KI MATRIX (4x4)

SUBROUTINE KIDEN(KI,K,Q)
REAL KI(4,4),K
INTEGER Q
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C SET ALL THE ELEMENTS EQUAL TO ZERO
DO 201=1,0
DO 10J=1,Q
KI(1J)=0.0
10 CONTINUE
20 CONTINUE
C NOW SET ALL THE DIAGONAL ELEMENTS EQUALTO K
DO 301=1,0
KI(l1)=K
30 CONTINUE
RETURN
END

C* SUBROUTINE FOR CALCULATE E VECTOR ; E()=Y- X(B_HAT)

SUBROUTINE BUILDE(Y,X,BH,E,XBHN.Q)
REAL Y{L00),X(100,4),BH(4),E(100), XBH(100)
INTEGER N.Q
DO 10 1=L,N
SUM=0
DO 30 J=1,Q
SUM=SUM+X(,J)'BH())

30 CONTINUE
XBH()=SUM

10 CONTINUE
DO 40 1=
E{)=Y()-XBH()

40  CONTINUE
RETURN
END
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c* SUBROUTINE FOR CALCULATE BETAJHAT (RID)

SUBROUTINE RID(XTX,KI,XRINV.XTY,BRD,Q)
REAL XR(4,4) XTX(4,4),KI(4,4) XRINV(4,4) XTY(4) BRD(4)
INTEGER Q
DO 10 11,0
DO 10J=1,0

XR(,J)= XTX(,J1+K1(.,)
10 CONTINUE

CALL INVRS(XR XRINV.Q)

DO 35J=1,Q

BRD(J)=0.0

DO 35 K=1,0

BRD(J)=BRD(J)+XRINV(I KJXTY(K)
35 CONTINUE

RETURN

END

c* SUBROUTINE FOR CALCULATE BETA HAT (WRID)

SUBROUTINE WRID(XTWX,KI, XWDINV,XTWY,BWD,Q)

REAL XWD(4,4), XTWX(4,4),KI(4,4) XWDINV(4,4) XTWY(4) BWD(4)
INTEGER Q

DO 10 1=1,Q

DO 10J=1,Q
XWD(1,J)= XTWX(1,J)+KI(l.)

10 CONTINUE
CALL INVRS(XWD,XWDINV,Q)
DO 35 J=1,Q
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BWD(J)=0.0
DO 35 K=1.Q
BWD(J)=BWD(J)+ XWDINV(J, K XTWY(K)
35 CONTINUE
RETURN
END

C* SUBROUTINE FOR BUILD ~ MATRIX (NxN)

SUBROUTINE BUILDW(W,EN)
REAL  (100,100).E(100)
INTEGER N
C SET ALL THE ELEMENTS EQUAL TO ZERO
DO 20 1=1,N
DO 10J=LN
()=0.0
10 CONTINUE
20 CONTINUE
C NOW SET ALL THE DIAGONAL ELEMENTS EQUALTO E()
DO 30 1=LN
W(,)=ABS(E(0)
30 CONTINUE
RETURN
END
C* SUBROUTINE FOR CALCULATE XTW(4xN) 1 XTWX(4xd) MATRIX AND XTWY
(4%1) VECTOR
SUBROUTINE BASICW(XTW,XTWX, XTWY, X XTW,Y,N,Q)
REAL XTW/(4,100) XTWX(4,4), XTWY(4) X(100,4), XT(4,100)



10

30

40
50

15

25

¢* SUBROUTINE FOR CALCULATE BETA_HAT(RLAV)

REAL  (100,100),Y(L00)
INTEGER N,Q
DO 10 1=LN
DO 10J=1,Q
XT(,)=X(,9)
CONTINUE
DO 50 J=1,Q
DO 40 1=LN
SUM=0
DO 30 K=1 N
SUM=SUMHXT(J KWK,
CONTINUE
XTW(J,)=SUM
CONTINUE
CONTINUE
DO 15 1=1,Q
DO 15J=1,Q
XTWX(10)=0.0
DO 15 K=L N
XTWX(13)=XTWX(LJ)XTW(LKIX(K.)
CONTINUE
DO 25J=1,Q
XTWY())=0.0
DO 25 1=1N
XTWY()=XTWY (I XTW(,)Y()
CONTINUE
RETURN
END



10

35

SUBROUTINE RLAV(XTX,KI.XRVINV,XTY,BRV,Q)
REAL XRV(4,4),XTX(4,4),KI(44) XRVINV(4,4) XTY(4),BRV(4)
INTEGER Q
DO 101=1,0
DO 10 =1,Q
XRV(,J)= XTX(, )+KI(, )
CONTINUE
CALL INVRS(XRV,XRVINV,Q)
D035 =1,Q
BRVI(J)=0.0
DO 35 K=1,Q
BRVI(J)=BRV(J)XRVINV{I KXTY(K)
CONTINUE
RETURN
END

kxkkkkkkxkkk

C* PREPARE DATA FOR LINEAR PROGRAMMING

50

SUBROUTINE INPUT(N,X,Y)

COMMON (101),C(209),CODE(101) KP1,MPL,NN,K,M,NGET,NLET.NET,NTYPE
+ NP1 ,NCNC1 .INDEXG.INDEXL,INDEXE,NFLAG,BASICS,0PTSOL,SUM,NOPT
+ BLV(4)

INTEGER BASICS,CODE,XB,0PTSOL

REAL X(100,4),Y(100)

DIMENSION A(101,209),XB(202)

M=N

K=2*"M+8

NLET=0

NGET=0
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NET=M
NTYPE=0
NOPT=1
DO5J=18
C(9)=0.0
CONTINUE
MMB=2tM+8
DO 11 J=9,MM8
C(J)=L0
CONTINUE
DO 4 1=1M
CODE()=2
CONTINUE
DO 6 1=LM
B()=Y()
CONTINUE
DO 10 =L, M
A1LL=X(,1)
A,2)=-A(,1)
A1,3)=X(.2)
AL4)=-A(3)

DO 15 J=9 M1
13=J-1
IF(J.EQ.8) GOTO 111
ALD)=0.0
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GOTO 15
11 A(l,J)=1.0
15 CONTINUE
M2=M1+1
M3=2*M+8
DO 16 J=M2,M3
1=J-|
IF0J1.EQ.M1) GOTO 112
A(1,J)=0.0
GOTO 16
112 A(l,J)=-1.0
16 CONTINUE
10 CONTINUE
Fkiekkkiokkekickiekickickikiekickekek /N\eiekekickkekickekikaekilalekiclaekiinkeiikekiaknekiaknkiknkiknkiknnkiknnkikekikekilokekekok
150  CALL SSARTV(AXB)
IF(IFLAG.EQ.I) GO TO 50
BASICS=0
OPTSOL=0
CALL SIMPLX(AXB)
IF(NTYPE.EQ.I) GO TO 220
SUM—SUM
220 L1=0
12=0
13=0
L4=0
15=0
L6=0
L7=0
18=0
DO 440 1=1,M



440

F(XB()EQL) =l
IF(XB().EQ.2) L2
IF(XB().EQ.3) L3l
tF(XB()EQ.4) Ld=|
IF(XB().EQ5) L5=]
IF(XB().EQ.6) L6=]
IF(XB().EQ.7
IF(XB().EQ8
CONTINUE
IF(LI.EQ.0) THEN
BIAS)
FLSE
BIA=A(LLNPL)
ENDIF
IF(L2.EQ.0) THEN
B1B=0
FLSE
B1B=A(L2,NPL)
ENDIF
IF(L3.EQ) THEN
B2A=0
FLSE
B2A=A(L3,NPL)
ENDIF
IF(L4.EQ.0) THEN
B2B=0
FLSE
B2B=A(L4,NPY)
ENDIF
IF(L5.EQ.0) THEN

L7=l

)
) L8|
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2000

B3A=0

FLSE
B3A=A(L5NPY)

ENDIF
IF(L6.EQ.0) THEN
B3B=0

FLSE
B3B=A(L6,NPL)

ENDIF
IF(L7.EQ.0) THEN
BAA=0

FLSE
BAA=A(LT,NPY)

ENDIF
IF(L8.EQ.0) THEN
B4B=0

ELSE
BAB=A(L8,NPL)

ENDIF

BLV(1)=B1A-B1B

BLV(2)=B2A-B2B

BLV(3)=B3A-B3B

BLV/(4)=B4A-B4B
RETURN

END

338

C* A SUBROUTINE THAT SUPPLIES THE SLACK 1SURPLUS AND ARTIFICIAL

C*

VARIABLES NEEDED TO PERFORM SIMPLEX METHOD.

SUBROUTINE SSARTV(A.XB)



339

COMMON B(101),C(209),CODE(101),KP1IMP1,NN,K,M.NGET,NLET.NET,NTYPE
+ NP1 NC,NCL, INDEXG,INDEXL, INDEXE, NFLAG,BASICS,0PTSOL,SUM, NOPT

+ BLV(4)

INTEGER CODE, XB,BASICS,0PTSOL
DIMENSION A(L01,209),XB(209) ARTV(202)

C INITIALIZE VARIABLES

69
150

IFLAG=0
1A=1
KP1=K+1
MP1=M+1
NN=K+2*NGET+NLET+NET
NP1=NN+1
NC=K+NGET+1
NC1=NC+NLET
INDEXG=K+1
INDEXL=K+NGET+1
INDEXE=K+NGET+NLET+1
DO 69 1=1,MPI
DO 69 J=KP1,NP1
A(l,J)=0.
DO51=1,M
A(I,NP1)=B()
DO 4 1=LM
IF(CODEO).EQ.0) GO TO 6
IF(CODE(]).EQ,1) GO TO 8
ARTV(IA)=]
|A=IA+1
XB()=INDEXE
A(I,INDEXE)=1
INDEXE=INDEXE+1



4

GOT04
XB()=INDEXE
ARTV(IA)=]
IA=IA+1
INDEXE=INDEXE+1
A(lINDEXG)=-1.
INDEXG=INDEXG+1
GOT04
XB(l)=INDEXL
A(LINDEXL)=L.
INDEXL=INDEXL+1
CONTINUE

C CHECK FOR CORRECT DATA

100

110

120

IF(INDEXG.NE.NC) GO TO 100
IF(INDEXLNE.NCI) GO TO 110
IFONDEXE.NE.NP1) GO TO 120
GO TO 151

IFLAG=1

RETURN

IFLAG=1

RETURN

IFLAG=1

RETURN

C CHECK FOR MAXIMIZATION

151

60

12

CONTINUE
IF(NTYPE.EQ.0) GO TO 12
DO 60 J=1,K
AMPL,J)=-C(J)

GO TO 50

DO 55 J=1K
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5 AMPL,J)=C(J)

50 DO 61 J=KPLNPL
A(MP1,3)=0.

6l CU)=0.
DO 62 J=1,K

62 C{J)=AMPLJ)
DO 63 J=NCLNN

63  C{)=10E2
IF(NGET+NET.EQ.0) RETURN
IA=IA-L
KPGTE=K+NGET
DO 64 J=LKPGTE
SUM=0.
DO 65 1=1,IA

65  SUM=SUM+A(ARTV())

64 AMPLD)=A(MPLJ)-10.E2/SUM
SUM=0.
DO 66 1=1,/A

66 SUM=SUM+A(ARTV(|NP1)
AMPLNPL)=AMP1 NPL)-10.E2SUM
RETURN
END

C* SUBROUTINE TO PERFORM THE WORK OF THE SIMPLEX METHOD
CyCitimserex ] prjkxjo xkjplrkxkkitip] o xkkjgjrakxjpl xjiexxk e foxkkjpixiohilch ik kb [ foRRRI KXo RRRK[G O ¥k ¥ Erk
SUBROUTINE SIMPLX(A,XB)
COMMON (1012),C(209),CODE(101),KP1 ,MPLIN,K,M,NGET,NLET.NET,NTYPE
+ NPL,NC,NC1,INDEXG,INDEXL,INDEXE,NFLAG,BASICS,0PTSOL,SUM,NOPT
+ BLV(4)
INTEGER CODE,XB,BASICS,0PTSOL
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DIMENSION A(101,209) XB(209)
NFLAG=0

C* STEP1: OBTAN BASIC FEASIBLE SOLUTION OF EQUIVALENT MODEL
0*****.********..*TM *****.*TM *%*TM TM * T™ **“*****.*.*****TM .TM ***.TM *TM %% %%
100 BASICS=BASICS+L

IFNOPTEQ.0) GO TO 200
105  SUM=0.

DO 111 1= M
111 SUM=SUM+C(XB()*A(NP1)

IF(OPTSOLEQ.I) GO T0 920

C* STEP 2,3: CHOOSE THE NONBASIC VARIABLE WITH THE MOST NEGATIVE

c* COEFFICIENT TO ENTER AS A BASIS VARIABLE FOR THE NEXT
c* BASIC FEASIBLE SOLUTION. IF NONE ARE NEGATIVE 1AN OPTIMAL
c* SOLUTION HAS BEEN REACHED 1 SO GO TO STEP 9.
200 NEG=0

GNEG=0.

DO 21 J=1NN

IF(A(MPL, )GE.GNEG) GO TO 21
GNEG=A(MPL,J)
NEG=)
2l CONTINUE
IF(NEG.EQ.0) GO TO 900

Q*** WK ey KRRHT Ny sy ooy ook ) o **************1(**

”tr **1'+***+**** ‘*+++*****1'**** l****_*l'**+*++

C* STEP4,11  CHECK FOR UNBOUNDED OBJECTIVE FUNCTION.

Ce****jpr]citr*lo*Lor*rrrsrdnkjpkxjtickicH > > ** > rA*]1t* Friirk*ifirtro4oxdokjpaedodoksk o dokodkododxokjpx ] pxjtitir irkitlrk+i(*1rk*1cir**irkit*irlc

400  SPR=10.E10
DO 410 1-L M



IF(A(L,NEG).LE..00001) GO TO 410
IF{A(INPL)/A(,NEG).GE.SPR) GO TO 410
SPR=A(,NPL)/A(,NEG)
NSPR-|
410 CONTINUE
IF(SPR.LE.10.E8) GO TO 510
NFLAG=1
RETURN

C* STEP 5 : FIND PIVOTAL ELEMENT AND DIVIDE BY IT.

510  PELE=ANNSPRNEG)
DO 500 =1 NPL

500 A(NSPR,J)=AINSPRJ)PELE
XB(NSPR)=NEG

C* STEP 6,7,8 : PERFORM ELEMENTARY TRANSFORMATIONS AND GO BACK
c* TOSTEP 1 TO PRINT OUT NEW BASIC FEASIBLE SOLUTION,

600 DO6LOM.MPL
IF(LEQNSPR) GO TO 610
HOLD=A{,NEG)

DO 620 J=L,NP1

620  A(,J)=A( )-HOLD*A(NSPR,J)

610  CONTINUE
GO TO 100

C* STEP 9,10 : IF THERE IS AN ARTIFICIAL VARIABLE AT A POSITIVE LEVEL,
c* A FEASIBLE SOLUTION DOES NOT EXIST: OTHERWISE 1AN
C OPTIMAL SOLUTION OF THE EQUIVALENT LINEAR



c* PROGRAMMING MODEL HAS BEEN OBTAINED.

900  OPTSOL=L
IF(NOPT.EQ.) GO TO 920
GOTO 105

920 D0 930 1=LM
IF(XB()LTNCL) GO TO 930
IF(A.NPL).LE.0) GO TO 930
NFLAG=2
RETURN

930 CONTINUE
RETURN
END

RHPOHHfrickrr R xTkrx KOk rRjoxirkricLe* irkit* X FLpt gt i *it*iticicic* ¥ * i Lrk* ¥ * L'icitt: 1tr 1t ¥ Ix ek *jee * fi* * 'k * *ic* ¥ ****xjrkj’
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5 10
(RMSE) | ( ) 621 623
3
1
0
3 X Xi(p)7
01 10.3 10.5 10.7 10.9 10.95 0.99 ()
40 6.2.1
2.
()3
(P) 4 0.05,0.08,0.10 0.15
() 40 6.2.2
3,
()3
(P) 4 0.05 10.08,0.10 0.15
L ' , x{ *2(p) 0.9
() 40 6.2.3

6.2.1 6.2.3



0.1

0.3

0.5

0.7

6.2.1

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

RMSE

K
0.004554*

0.008272
0.004955
0.005368
0.010849
0.004732*
0.008520
0.005055
0.005476
0.011067
0.005190*
0.009157
0.005292
0.005728
0.011574
0.005893
0.010297
0.005711*
0.006187
0.012681

5

40

A
0.004645*
0.008439
0.005056
0.005477
0.011069
0.004827
0.008692
0.005157
0.005586
0.011290
0.005293*
0.009341
0.005398
0.005841
0.011807
0.006009
0.010500
0.005824*
0.006310
0.012932

LS 1LAV, RID 1RLAV

h
0.004669*

0.008481

0.005080
0.005504
0.011123
0.004851*
0.008736
0.005182

0.005613
0.011346
0.005319*
0.009388
0.005425
0.005870
0.011865
0.006038
0.010551

0.005853*
0.006340
0.0129%

0

K
0.004531*

0.008230
0.004931
0.005341
0.010795
0.004707+
0.008477
0.005028
0.005448
0.011010
0.005034*
0.008982
0.005124
0.005569
0.011257
0.005397
0.009429
0.005230*
0.005667
0.011614

346

WRID

X (p)

0.004600*
0.008356
0.005005

0.005422

0.010959

0.004779*
0.008606
0.005105
0.005531

0.011178
0.005209*
0.009217
0.005310
0.005752
0.011625
0.005835
0.010195
0.005655*
0.006126
0.012556
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> ESTR
S
LAV
09 Rp
RLAV
WRID
S
LAV
0% pp
RLAV
WRID
S
LAV
09 mp
RLAV
WRID

*

k
0.008436

0.014342
0.006283*
0.006806
0.013949

0.010454
0.017354
0.006785"
0.007486
0.015344
0.020051

0.032696
0.009729*
0.011828
0.024551

RMSE

k
0.008653

0.014627

0.006407*
0.006940
0.014225
0.010661

0.017699
0.006919*
0.007635
0.015648
0.020448
0.033344
0.009922
0.012063
0.025037

k
0.008695

0.014697
0.006438*
0.006974
0.014294
0.010713
0.017784
0.006953*
0.007672
0.015724
0.020548
0.033506
0.009971*
0.012121
0.025158

k
0.007772

0.013136
0.005754*
0.006233
0.012775
0.009574
0.015894
0.006214*
0.006856
0.014052
0.018364
0.029945
0.008910*
0.010833
0.022485

A7

0.008401
0.014201
0.006220*
0.006739
0.013811
0.010351
0.017183
0.006717*
0.007413
0.015192
0.019852
0.032373
0.009633*
0.011712
0.024307
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6.2.1
(RMSE) f 5
LS 1LAV 1RID 1RLAV ~ WRID
0 3 X, X2
01,03105107109109% 0.99 40
01,03 0.5 LS
RMSE RID RLAV RMSE
LAV WRID RMSE
0.7 10.9 10.9 0.99
RID RMSE LAV RMSE

0.7 WRID
RMSE



6.2.2

0.05

0.08

0.10

0.15

RMSE

RID
RLAV
WRID

LS

LAV

RID
RLAV
WRID

LS

LAV

RID
RLAV
WRID

LS

LAV

RID
RLAV
WRID

f5

0.012522
0.008149*
0.009080
0.008876
0.020448
0.013804
0.008429*
0.010136
0.009477
0.021360
0.014417
0.008586*
0.010588
0.009518
0.022311
0.014934
0.008944*
0.011269
0.009914
0.023121

LS, LAV, RID, RLAV

fit

0.012774
0.008314*
0.009264
0.009054
0.020861

0.014083
0.008600*
0.010341

0.009669
0.021791

0.014708
0.008759*
0.010801

0.009710
0.022761

0.015237
0.009125*
0.0114%
0.010114
0.023588

k
0.012838

0.008355*
0.009310
0.009100
0.020964
0.014153
0.008643*
0.010392
0.009716
0.021900
0.014781
0.008803*
0.010854
0.009758
0.022874
0015311
0.009170*
0.011554
0.010165
0.023705

349

WRID

k
0.012458

0.008108*
0.009035
0.008830
0.020345
0.013734
0.008387*
0.010085
0.009429
0.021252
0.014344
0.008543"
0.010534
0.009469
0.022198
0.014859
0.008899*
0011212
0.009864
0.023005

()

0.012648
0.008231*
0.009172
0.008965
0.020654
0.013%44
0.008515*
0.010238
0.009573
0.021576
0.014563
0.008673¢
0.010694
0.009614
0.022536
0.015085
0.009035*
0011383
0.010014
0.023355
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0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RIAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

k
0017120

0.009767*
0011111
0.010675
0027316
0.019022
0.010173*
0.012500
0.011477
0.028755
0.020023
0.010434*
0.013159
0.011607
0.030267
0.021077
0.010984*
0.013852
0.012218
0.031860

k
0.017465

0.009965*
0.011336
0.0108%0
0.027867
0.019406
0.010379*
0012753
0.011710
0.029335
0.020428
0.010646*
0.013425
0.011842
0.030878
0.021502
0.011205*
0014131
0.012465
0.032504

k
0017551

0.010014*
0.011393
0.010945
0.028006
0.019502
0.010430*
0.012816
0.011767
0.029480
0.020529
0.010696*
0.013492
0.011900
0.031031
0.021609
0.011262*
0.014201
0.012527
0.032665

k
0.017033

0.009717*
0.011055
0.010621
0027177
0.018926
0.010122*
0012437
0.011420
0.028609
0.019922
0.010382*
0.013092
0.011549
0.030114
0.020970
0.010928*
0.013782
0.012156
0.031699

350

0017292
0.009866*
0.011224
0.010783
0027592
0019214
0.010276*
0.012626
0.011593
0.029045
0.020225
0.010540*
0.013292
0011724
0.030572
0.021290
0.011095*
0.013991
0012341
0.032182
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0.05

0.08

0.10

0.15

*

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

k
0.033211

0.015432¢
0021112

0.016972
0.051354

0037283

0.016278*
0.024001

0.018479

0.054633
0.039646
0.016904*
0.025528
0.018920
0.058112
0.042575
C.018123*
0027426
0.020282
0.062446

RMSE 9

k
0.033882

0.015744*
0.021539
0.017315
0.052392
0.038036
0.016606*
0.024486
0.018852
0.005737
0.040447
0.017246*
0.026045
0.019302
0.059285
0.043435
0.018490*
0.027981
0.020691
0.063707

k
0.034050

0.015822"
0.021646
0017401
0.052651
0.038224
0.016688"
0.024607
0.018946
0.056013
0.040647
0.017331*
0.026174
0.019398
0.059579
0.043650
0.018581*
0.028118
0.02079%
0.064022

K
0.033043

0.015354*
0.021005
0.016887
0.0510%
0.0370%
0.016195*
0.023879
0.018385
0.054358
0.039446
0.016819"
0.0253%9
0.018824
0.057818
0.042360
0.018032*
0.027288
0.020179
0.062130

31

0.033546
0.015586
0021325
0.017144
0.051873
0.037659
0.016441*
0.024243
0.018666
0.055185
0.040046
0.017075*
0.025786
0019111
0.058699
0.043005
0.018307*
0.027703
0.020486
0.063076
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6.2.2
(RMSE) ®f 5
LSILAVIRDIRLAV ~ WRID
f(£) = (1-P)N(0,3) + PN(0,3C2)
0.05 10.08 1 0.10 0.15 40
{ = )
(P =005 10.08 10.10 0.15)
LAV RMSE RLAV 1

RID 1LS WRID RMSE



0.9

6.2.3

0.05

0.08

0.10

0.15
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RMSE
?7 5 LS, LAV. RID, RLAV ~ WRID

(P {)
X ) 09 10

ESTR o K P2 D,
LS 0.026137  0.026655 0.026784  0.023937  0.025878

LAV~ 0.014944  0.015240  0.015313  0.013686  0.014795
RID 0012367 0.012612 0.012673  0.011327  0.012245
RLAV  0.011398* 0.011624* 0.011681* 0.010439* 0.011285*
WRID  0.028130 0.028687  0.028826  0.025763  0.027852

LS 0035261 0.035960 0.036134 0.032294  0.034912
LAV~ 0.018644 0.019013 0.019105 0.017075  0.018459
RID  0.015739 0.016052 0.016129  0.014415 0.015584

RLAV  0.012562* 0.012811* 0.012874* 0.011505* 0.012438*
WRID  0.033733  0.034401  0.034568  0.030894  0.033399

LS 0.043292 0.044149  0.044363 0.039649  0.042863
LAV 0020670 0.021079  0.021181  0.018931  0.020465
RID 0022237 0.022677 0.022787  0.020365 0.022017

RLAV ~ 0.014002* 0.014278* 0.014348* 0.012823* 0.013863*
WRID  0.039530  0.040313  0.040509  0.036204  0.039139

LS 0049931 0.050920 0.051168 0.045729  0.049437
LAV~ 0.023070 0.023526  0.023640 0.021128  0.022841
RID  0.024478  0.024962 0.025083  0.022418  0.024235

RLAV  0.015775+ 0.016087* 0.016166* 0.014448* 0.015619*
WRID  0.043791  0.044658  0.044875 0.040106  0.043357



623( )

P W P
0.05
0.08
0.9
0.10
0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

k
0035735

0.017912
0.015134
0.013709*
0.038632
0.048587
0.022500
0.019412
0.015214*
0.046683
0.060127
0.025120
0.027636
0.017075*
0.055132
0.070468
0.028332
0.030086
0.019442¢
0.062035

k
0036442

0.018266
0.015434
0.013981*
0.039398
0.049550
0.022945
0.019796
0.015515*
0.047608
0.061318
0.025618
0.028184
0.017412*
0.056224
0.071863
0.028892
0.030681
0.019827*
0.063263

k
0.036619

0.018355
0.015508
0.014049*
0.039589
0.049790
0.023057
0.019892
0.015591*
0.047838
0.061615
0.025742
0.028321
0.017498*
0.056497
0.072212
0.029033
0.030830
0.019923*
0.063571

k
0.032727

0.016405
0.013860
0.012555*
0.035381
0.044499
0.020607
0.017777
0.013934*
0.042755
0.055067
0.023006
0.025311
0.015637*
0.050492
0.064537
0.025948
0.027554
0.017805*
0.056815

354

0.035381
0.017735
0.014984
0.013573*
0.038250
0.048106
0.022277
0.019219
0.015063*
0.046221
0.059532
0.024872
0.027363
0.016906*
0.054587
0.069770
0.028050
0.029788
0.019249*
0.061421



0.9

623( )

VY

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

RMSE

k
0.070041

0.028837
0.029057
0.022071*
0.075718
0.096203
0.036451
0.037657
0.024647*
0.092432
0.120254
0.040946
0.054168
0.027832
0.110265
0.142345
0.046746
0.059570
0.032079*
0.125311

k
0.071428

0.029408

0.029633
0.022509*
0.077218

0.098108
0.037172
0.038403
0.025135*
0.094263
0.122635
0.041757
0.055241

0.028383*
0.112448
0.145163
0.047672
0.060749
0.032713*
0.127793

k
0.071774

0.029551

0.029776
0.022617*
0.077592
0.098584
0.037353
0.038590
0.025257*
0.094721

0.123231

0.041959
0.055508
0.028521*
0.112993
0.145869
0.047903
0.061044
0.032872*
0.128413

k
0.064146

0.026410
0.026612
0.020214*
0.069346
0.088107
0.033383
0.034488
0.022573*
0.084653
0.110134
0.037499
0.049609
0.025490*
0.100985
0.130365
0.042812
0.054556
0.029378*
0.114766

355

0.069347
0.028552
0.028769
0.021853*
0.074968
0.095250
0.036090
0.037285
0.024403*
0.091518
0.119064
0.040540
0.053631
0.027557*
0.109173
0.140935
0.046284
0.058980
0.031761*
0.124071



6.23
(RMSE) ?
[S1LAVIRD IRLAV  WRID
() = (LPNO3) + PN(0,3C2)

0.05,0.08, 0.10 0.15
1 x2 0.9 40
( =
(P=0.05,0.08,0.10
RLAV RMSE
RMSE
0.05 WRID

356

0.15)



«K

M=11M=31M=5 pa =1

(RMSE)
« ( ) ' 631 6.3.3
3
1
0
3 X X(p) 7
0.1,0.310.510.7 10.9 10.95 0.99 ()
50 6.3.1
2
()3
(P) 4 0.05,0.08,0.10 0.15
() 50 6.3.2
3
()3
(P) 4 ® 0.05,0.08.,0.10 0.15
0 x2(p) 0.9
() 50 6.3.3

| 631 6.33 f



0.1

0.3

0.5

0.7

6.3.1

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

RMSE

k
0.004400*

0.007481
0.004791
0.005182
0.009583
0.004554*
0.007705
0.004900
0.005296
0.009775
0.004950*
0.008299
0.005102
0.005511
0.010188
0.005620
0.009235
0.005469*
0.005915
0.011065

5

50

k
0.004490*

0.007632
0.004887
0.005286
0.009777
0.004647*
0.007861
0.005000
0.005402
0.009973
0.005049*
0.008465
0.005203
0.005621
0.010392
0.005732
0.009418
0.005577*
0.006032
0.011284

LS 1LAV 1RID 1RLAV

k
0.004511*

0.007669
0.004911

0.005312
0.009825

0.004670*
0.007900

0.005022

0.005428

0.010022
0.005073*
0.008507
0.005229
0.005649
0.010444
0.005760
0.009464
0.005605*
0.006062
0.011339

358

WRID
0
L x2ip)
k

0.004379*  0.004445*
0.007443  0.007556
0.004766  0.004839
0.005155  0.005234
0.009535 0009680
0.004532F  0.004601*
0.007666  0.007783
0.004821  0.004936
0.005228  0.005339
0.009726  0.009874
0.004802*  0.004968*
0.008040  0.008327
0.004899  0.005108
0.005320  0.005525
0.009932  0.010239
0.005148 0005565
0.008458  0.009143
0.005009*  0.005415*
0.005417  0.005857
0.010134  0.010956



631( )
P ESTR k
LS 0.007975

LAV 0.012670
09 RD  0.006016*
RLAV  0.006507

WRID  0.012172

LS 0.009683

LAV 0.015103

095 rp 0006497
RLAV  0.007157
WRID  0.013389
1S 0018291

LAV 0.028032

RD 0009291

RLAV  0.011094
WRID 0021422

0.99

RMSE

k
0.008133

0.012921

0.006135*
0.006635
0.012412

0.009875
0.015403
0.006626*
0.007299
0.013654
0.018653
0.028588
0.009475*
0.011314
0.021846

k
0.008173

0.012985
0.006165*
0.006668
0.012473
0.009923
0.015477
0.006659*
0.007335
0.013720
0.018744
0.028726
0.009521*
0.011369
0.021952

k
0.007304

0.011605

0.005510%
0.005959
0.011148
0.008868

0,013832
0.005951*
0.006556
0.012261

0.016751

0.025672
0.008509*
0.010160
0.019619

359

0.007897
0.012545
0. 5957*
0.006442
0.012051
0.009587
0.014954
0.0 433*
0.007087
0.013256
0.018109
0.027754
0.009199*
0.010984
0.021210



360

6.3.1

(RMSE) 5
LS 1LAV ,RID , RLAV WRID
0 3 X, *2
0110310510710910.95 0.99 50
01,03 0.5 LS
RMSE RID RLAV RMSE
LAV WRID RMSE

0.7 10.9 10.95 0.99
RID RMSE LAV RMSE
0.7 WRID
RMSE



6.3.2

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

f 5
P

k
0010699

0.007075*
0.007834
0.007825
0.017644
0.011818
0.007343*
0.008692
0.008386
0.018245
0.012370
0.007506*
0.009456
0.008451
0.019060
0.012867
0.007847*
0.010148
0.008835
0.019756

LS, LAV, RD, RLAV

k
0.010915

0.007218*
0.007993
0.007983
0.018001
0.012056
0.007492*
0.008868
0.008556
0.018614
0.012618
0.007657*
0.009648
0.008622
0.019445
0.013126
0.008006*
0.010352
0.009013
0.020156

k
0010969

0.007253*
0.008031
0.0Q8022
0.018090
0.012117
0.007529*
0.008912
0.008599
0.018706
0.012682
0.007695*
0.009695
0.008665
0.019541
0.013192
0.008046*
0.010404
0.009058
0.020255

%1

WRID

k
0010645

0.007039*
0.007795
0.007786
0.017555
0.011758
0.007306*
0.008649
0.008344
0.018153
0.012306
0.007468*
0.009410
0.008408
0.018964
0.012802
0.007807*
0.010096
0.008790
0.019657

{)

0.010807

0.007146*
0.007913

0.007904
0.017822

0.011937

0.007417*
0.008780
0.008471

0.018429
0.01249%4
0.007582*
0.009552
0.008536
0.019253
0.012997
0.007926*
0.010250
0.008924
0.019956



VY

632( )

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

R
3.014401

0.008422*
3.009442
0.009317
0.023216
0.016002
0.008772*
0.010515
0.010017
0.024188
0.016844
¢.008997*
0.011485
0.010130
0.025461
0.017730
0.009471*
0.012089
0.010662
0.026803

K
0.014693

0.008591*
0.009634
0.009504
0.023685
0.016324
0.008949
0.010727
0.010219
0.024678
0.017185
0.009179*
0.011718
0.010334
0.025975
0.018089
0.009662
0.012334
0.010878
0.027343

Pi
0.014766
0.008634*
0.009681
0.009551
0.023803
0.016406
0.008993*
0.010780
0.010270
0.024799
0.017270
0.009225*
0.011776
0.010385
0.026104
0.018177
0.009710*
0.012395
0.010931
0.027479

Ps
0.014329

0.008379*
0.009395
0.009270
0.023099
0.015920
0.008728*
0.010462
0.009966
0.024067
0.016760
0.008952*
0.011427
0.010079
0.025333
0.017641
0.009423*
0.012028
0.010609
0.026667

362

0.014547
0.008507*
0.009538
0.009411
0.023451
0.016163
0.008861*
0.010621
0.010118
0.024433
0.017015
0.009088*
0.011601
0.010232
0.025718
0.017909
0.009567*
0.012211
0.010770
0.027073



VY

632( )

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

K
0.027364

0.013138*
0.017563
0.014535
0.042718
0.030643
0.013773*
0.019663
0.015726
0.044990
0.032509
0.014216*
0.021592
0.016005
0.047867
0.034751
0.015153*
0.022970
0.017060
0.051460

RMSE

0.027916
0.013403*
0.017918
0.014829
0.043581
0.031261
0.014051*
0.020060
0.016045
0.045900
0.033166
0.014503*
0.022029
0.016327
0.048834
0.035453
0.015459*
0.023433
0.017404
0.052500

b,
0.028054

0.013469*
0.018007
0.014902
0.043797
0.031416
0.014121*
0.020159
0.016124
0.046126
0.033331
0.014575*
0.022138
0.016409
0.049075
0.035629
0.015536*
0.023550
0.017490
0.052760

b
0027226

0.013071*
0.017475
0.014462
0.042501
0.030488
0.013703*
0.019564
0.015647
0.044764
0.032345
0.014144*
0.021483
0.015923
0.047625
0.034576
0.015077*
0.022854
0.016974
0.051201

363

0.027640
0.013270*
0.017741
0.014682
0.043149
0.030952
0.013912*
0.019861
0.015885
0.045445
0.032838
0.014360¢
0.021811
0.016166
0.048350
0.035102
0.015306*
0.023202
0.017232
0.051980
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632
(RVSE) 5
[SILAVIRDIRAY  WRD
f(f) = (N0 + PNOC2)

0.051008 10.10 0.15 50
(= )

(P=10.0510.08 ,0.10 0.15)

LAV RMVEE RLAV 1

RID 1LS WRID RVSE



0.9

6.3.3

VY

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

5

®)
¥

k

0.021587

0.012674

0.010367

0.009840¢
0.023931

0.027860
0.015507

0.013130
0.011043*
0.0275%
0.034120
0.017216
0.018392
0.012094*
0.032374
0.038853
0.019015
0.021056
0.013724*
0.035824

LS, LAV RID, RLAV ~ \ARID

*2(P)

k
0.022015
0.012924
0.010573
0.010035*
0.024406
0.028412
0.015814
0.013391
0.011262¢
0.028142
0.034795
0.017556
0.018757
0.012334*
0.033015
0.039622
0.019391
0.021473
0.013996*
0.036533

0.9

k
0.022122

0.012987
0.010624
0.010084*
0.024524
0.028551

0.015891

0.013456
0.011316*
0.028278
0.034965
0.017642
0.018848
0.012393*
0.033176
0.039815
0.019485
0.021577
0.014064*
0.036711

(W)

k
0019771

0.011607
0.00949
0.009012
0.021918
0.025516
0.014201
0.012026
0.010113*
0.025274
0.031249
0.015767
0.016844
0.011076*
0.029649
0.035583
0.017414
0.019284
0.012569*
0.032809

365

50

0.021373
0.012548
0.010265
0.009743*
0.023695
0.027585
0.015353
0.013001
0.010933*
0.027323
0.033782
0.017045
0.018210
0.011974*
0.032054
0.038468
0.018826
0.020848
0.013588*
0.035469



0.9

633( )

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

K
0.029057

0.015087
0.01249
0.011716*
0.032373
0.037726
0.018526
0.015883
0.013191*
0.037610
0.046465
0.020638
0.022337
0.014496*
0.044461
0.053539
0.022951
0.025085
0.016565*
0.0499%1

fil
0.029632
0.015386
0.012743
0.011948*
0.033013
0.038472
0.018892
0.016199
0.013452*
0.038355
0.047385
0.021047
0.022779
0.014783
0.045341
0.054600
0.023405
0.025582
0.016892*
0.050950

h
0.029776

0.01546
0.012805
0.012006*
0.033173
0.038659
0.018984
0.016277
0.013517*
0.038541
0.047615
0.021149
0.022890
0.014855*
0.045561
0.054864
0.023519
0.025705
0.016975*
0.051197

0.026612
0.013817
0.011444
0.010730*
0.029648
0.03455
0.016967
0.014547
0.012081*
0.034445
0.042554
0.018901
0.020457
0.013276*
0.040718
0.049033
0.021019
0.022973
0.015170%
0.045756

366

0.028769
0.014937
0.012372
0.011600
0.032051
0.037352
0.018343
0.015726
0.013060*
0.037238
0.046005
0.020434
0.022116
0.014352*
0.044020
0.053009
0.022724
0.024836
0.016401*
0.049466



0.9

633( )

0.05

0.08

0.10

0.15

ESTR
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID
LS
LAV
RID
RLAV
WRID

RMSE

fio
0.055498
0.023686
0.023131
0.018395*
0.061831
0.072432
0.029270
0.029860
0.020842*
0.072212
0.089678
0.032813
0.042217
0.023048*
0.085810
0.104400
0.036721
0.047661
0.026504*
0.097422

A
0.056598
0.024155
0.023589
0.018759*
0.063055
0.073866
0.029850
0.030452
0.021255*
0.073641
0.091454
0.033463
0.043052
0.023505*
0.087509
0.106468
0.037448
0.048604
0.027028*
0.099352

K
0.056872

0.024272
0.023703
0018850
0.063361
0.074224
0.029995
0.030600
0.021358*
0.073999
0.091898
0.033625
0.043261
0.023619*
0.087933
0.106985
0.037630
0.048841
0.027160*
0.099834

0.050828
0.021692
0.021184

0.016846*
0.056627
0.066336
0.026807

0.027347

0.019087*
0.066135
0.082131

0.030052

0.038663
0.021109*
0.078588
0.095614
0.033630
0.043650
0.024273
0.089223

367

0.054949
0.023452
0.022902
0.018212¢
0.061219
0.071714
0.028980
0.029565
0.020636*
0.071497
0.088790
0.032488
0.041799
0.022820¢
0.084960
0.103367
0.036358
0.047188
0.026241*
0.096458



6.3.3

(RVSE)
[SILAVIRDIRAV  WRID

() = (LANQJ + PN(0ACY)

0,0510.0810.10 0.15

X x2 0.9 50
{ =
(P=0.05,0.08,0.10
1 RLAV RVRE
RVGE

0.05 WRID

368

015

RMSE



(Simplex Method)

(Linear  Programming)

3
1
.6 1= gx -» MAX
. AX < T
G = g0+glxl+gx2+..+g,x, —» MAX

anx1+ 2Q+..+awn < A
a1+ aZ2R+...+a2x, < T2

+V2+-+V» N

JC>0 (the nonnegativity constraint)

(slack variable) y
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0 G = 10gt152 -> MAX

1) 3pt+x2 < 15
CD iG+272  <i 10
(3) 2> =0

(slack variable) y
0 G = 10xj+1512 -» MAX

)  AX+x2+yl < 1
@ . +22+4y2 < w

(3) 2 + y3 <9
>>>() »
( " " (nonbasis
variables) " " (basis variables)
" (basis feasible
solution)
« ,
(Simplex Tableu)
1
8 A 2 >1 y2 3 T
y1 0 3 1 1 0 0 15
Y 0 1 (2) 0 1 0 10
Vs 0 2 0 0 0 1 9
S 10 15 0 0 0 0
Ki 0 0 0 0 0 0
(K,-g,) -10 15 0 0 0 0
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4 1 g
2 X
X A 3
y |(Identity Matrix)
A 4
1
0, 1
Ki
*1 = 3.0+ 1.0+2.0 = ( X)
k2 = 1.0+ 2.0+ 0.0 - ( x2)
= 15.0+10.0+90 : 0 (
g A (K. -g1)
1
1 2
{K1-g,) -15 pivot column
T A pivot column 151 110/2 A
102 pivot row
pivot column pvot row pivot number
()
? (Iterative Step)
? A pivot number
) y2 A
2 yi y3 y1
ylo = 3-1(112), 1-1(212), 1-1(072), 0-1(1/2), 0-1(0/2), 15-1(10/2)

y3 2
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g yl X2 y2 3 T
, 0 (25) 0 1 05 0 10
M 5 05 1 0 05 0 5
3 0 2 0 0 0 1 9
<*»-&> - '25 0 0 75 0 75
1 1, 2 X2 pivot column
(basis) y2 pivot row
X2 5
5 ' "k, -0;)
2 (K.lgl) L
pivot row ' L yX |
pivot number ~ (2.5) 3
3
g ! *2 » y2 T
q 10 1 0 04 02 0 4
*2 15 0 1 02 08 0 3
0 0 0 0.8 0.4 1 1
(K,-g,) 0 0 1 15 0 85
3 &8 4
X, 5 3 85
y3 1 (Kt- g1)
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1
(AT,'g,) >0
(K,-g1) <0
pivot column
2. pivot column
Tj a. ak > 0
Tp apk = min {Tj/djtr 1aX >0)
pivot number
3 bp = [apk
4, bfi = all- ajkbll
T =
= {K.-gl1)-{Kk-gk).bp
] P
B afl- i G |
=T J

(K1- 0,)

Tp = Tplapk

313

pivot



: (Measures of Collinearity)

= Btpixiteet$l -1+ b rPkX ke

PSS
Tolerance 1VIF 1 Eigenvalue Condition Index

1. Tolerance X1 1-Rf
R1= multiple correlation coefficient

XI = @b x+ " +bi i y+bMX M +-- +bkx k

X1 k-1
Tolerance Xi
Tolerance X, = 1-R?
R* R?
Xt X'S XS
X 1 X1 XS

Tolerance X,

X

Tolerance
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(X Lra7x L1 x #1XT) ticollinearity

1 VIF (Variance Inflation Factor)

VIF X, = Vi F, - |_R_12-
VIF, X1
2. Eigenvalue
Eigenvalue k+1(k= )
Eigervalue

3. Condition Index
Condition Index 20
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